[F—Util

[f]—Numerical Inverse Laplace Transform

[Fl—equrep

[F—laplace

[F—isol

[E]—isol examples

isolate (eq, expr) try to isolate exprin the eq.

isolate(c.t4a=b, t):t=b_a isolate (c.tfa=b, c.t)=c.t=b-a

c
. 2 c—a
isolate|a +b.tan|6 |=c, 6|=6=_atan

o

c—cos(a)

isolate[cos(a)+b.exp[tn]=c,t]:t:nJln 5

b

b

isolate _
(-c+1n(a))-n

=c, t

In(a)+ =t =exp

isolate (X+x.sin(x], X):X-(1+sin(x))=0

isol returns only the value, or an expression for a numerical procedure

b

b
(-c+1n(a))-n

isol |1n(a)+ =c, t|=exp

isol (x 4 cos(x)=a, x)=—(-x+a +cos(x))

[El—Laplace examples

f[x) N:=25
plot := P1e (X)

augment[(olt, m.", 12, "green"

Laplace Transforms

3 exp(-t) 2
f(e)m1- 22 osse) gzl Gy s

2.[9+[1+s)2J.s

¢,, =ILT(F(s), 0, 6, N) v

?; (t]::cinterp [qolt, t]

f(t)::t2+sin(t) F(S)::lt(f(t)):S3+2‘[1+S2]

s3.[1—|—s2]




¢,, =ILT(F(s), 0, 5, N)

?, (t]::cinterp [(plt, t]

f(t)=exp(-0.5-t).sin(3.t)

¢,,:=ILT(F(s), 0, 6, N)

Ps (t]::cinterp [(plt, t]

,,/?-cos[5-,./?]

f(t):=t.cos(5-t)

% =it (F(s), 0, 5, )

?, (t]::cinterp [(plt, t]

f(t)::tz-sinh

)

{golt .= ILT (F(s), 0, 5, N)

Ps (t]::cinterp [(plt, t]

ODE 2

ode := a -

dt

0

F(S)::lt(f(t)):

12

2
36+(1+2-3)

Padhe. N

/N
72.5 2 4 ©

F(s)::lt(f(t))z_

F(s)::lt[f(t))z_

250-[(5-5-sinh(O]—|—cosh(0))-[—1—|—25.s2]+10.[‘

Yy
32

24

/

Sx(t)4bsox(t) e x(t)=p(t)

-



Laplace 1tz 1t (ode)=b.(~x, 45X (s)] - (—x' g (x40 K (s))) 4o X (s)= 1T (o ()

Isolation a.-(x' 4+s5.-x +b-x +LT (e (t))
X(s)::isol(lt(ode),X(s)]z [ ]

c+s.(b+s-a)

Alvaro




